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QUESTION 1

Refer to the exhibits. 

Which show the HA configurations for two FortiADC devices 

If both FortiADC devices are operational, which FortiADC is the active device in the cluster? 

A. The FortiADC with the highest HA uptime value 

B. The FortiADC with the highest sorting serial number 

C. FortiADC-1 

D. FortiADC-2 

Correct Answer: D 
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QUESTION 2

Which two statements about Layer 7 application delivery control are true? (Choose two.) 

A. It provides more intelligent traffic distribution decisions 

B. It provides the fastest traffic processing 

C. It supports only IPv4 

D. It requires more packets to make a decision 

Correct Answer: AD 

 

QUESTION 3

An administrator has configured all the back end servers with a maximum warm-up state rate. 

Under which two conditions is the maximum rate enforced by FortiADC? (Choose two.) 

A. As long as a server keeps replying to the health Check 

B. When multiple health check methods have been configured for a server and some of them are failing but at least one
is up. 

C. When the status of a server is set to Enabled from Maintain of Disabled 

D. During a warm-up period, when a server is back online after a health check downtime 

Correct Answer: CD 

 

QUESTION 4

Which two statements about virtual tunneling for outbound link load balancing are true? (Choose two.) 

A. Link policies are used to specify which traffic is sent through each virtual tunnel. 

B. Each virtual tunnel can contain no more than three IP tunnel. 

C. Two dispatch algorithms are supported weighted round robin and source destination hash. 

D. A virtual tunnel can combine point to point and multipoint IP tunnels. 

Correct Answer: AC 

 

QUESTION 5

To which two objects can link policies apply in FortiADC? (Choose two.) 
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A. Virtual tunnel 

B. Virtual server 

C. Gateway 

D. Link group 

Correct Answer: AD 
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